Thank you for choosing a Yamaha Ceiling/Wall-mount
Speaker bracket. Please read this manual carefully before
installing your speaker bracket and keep it in a safe place
for later reference.

PRECAUTION

* This speaker bracket can ONLY be used with a
speaker that weighs less than 7 kilograms (15.4
Ibs.).

« Check to make sure that the mounting surface
(well or ceiling) can fully support the combined
weight of the speaker and bracket before
installation.

« Make sure to tighten each screw and bolt
securely. After installation check that each screw
and bolt are free from looseness and that the
speaker system is securely fixed.

« When adjusting the speaker angle or direction, be
sure to loosen the applicable rotation locks screw
or joint bolt first.

 The manufacturer accepts no liability for any injury
or damage resulting from improper selection of
the mounting position, improper installation or
misuse of the product.

Holes for bolts to fix bracket
onto ceiling or wall

Ceiling/wall side bracket

Rotation lock screws(M6 x 10)
Lock screw

Joint bolt
(M8 x 35, @8 spring washer,
28 plain washer) ]

Rotation lock screws(M6 x 10)

Speaker side bracket

Supplied accessory : 2 hexagonal wrenches (of small and large sizes)
14 M5x12 screws

«Never loosen the lock screw which is to prevent the unit from coming apart.
It can be identified by its head as shown below.
Lock screw Rotation lock screw

*Prepare M5 bolts (6 pcs.), M5 hexagonal nuts (12 pcs.) and 25 plain
washers (12 pcs.). They are necessary to fix the ceiling/wall side bracket.
Prepare M5 bolts (2 pcs.) and M5 hexagonal nuts (4 pcs.) to fix the speaker
side bracket to the speaker. (They are not necessary when using a
YAMAHA speaker system which this product is intended for.)

INSTALLATION PROCEDURE

1 2

Separate the ceiling/wall side bracket
and the speaker side bracket.

Ceiling/wall side bracket

Plain washer
Spring washer
Joint bolt

%F
Loosen
Hexagonal wrench
(large)
. Fig. 2
With the snap pin removed first, remove
the joint bolt (with a plain washer and
spring washer) by using the supplied
hexagonal wrench (large).

Speaker side bracket

Securely attach the speaker side bracket to the speaker as shown below.

,

Speaker side bracket

M5 bolt

Top panel of
’ speaker

M5 hexagonal nut
_J

When attaching the bracket to the speaker system of wooden enclosure, remove
the woofer first and fix the bracket with 2 M5 bolts and 4 M5 hexagonal nuts.
(double-nut installation). Add sub board for security if possible.

*When using this bracket for the YAMAHA speaker system which it is intended for,
fix the bracket with supplied 2 M5x12 screws securely.




3 Attach the ceiling/wall side bracket to a sufficiently strong wall or ceiling. 4 Connect the ceiling/wall side bracket

and speaker side bracket.

(2]
® ®
2 o
T @ ,
i > Speaker cord hole
i M5 hexagonal nut
Speaker cord @5 plain washer
// Ceiling or wall
FJ B
©
g 7 25 plain washer
® {
&) ) 5 bolt
Ceiling /wall side bracket J

' Fig. 4 \ﬂ
For installation, use 2 M5 hexagonal nuts and 2 @5 plain washers for each of 6 M5 Hexagonal wréneh
bolts as shown above (double-nut installation). S (large%

*To get the speaker cord from behind the wall or ceiling, make a hole through it at f/\ /

such position that the speaker cord hole in the bracket and draw the speaker cord _ - Fig. 5

out of the wall or ceiling to the spaeker without slack by using the clamps. It is easy | Align two joint parts of both bracket so
to clamp and unclamp the speaker cord. that their serrations fit each other
*When using the bracket for wall mounting, be sure to use properly and fasten them with the joint

attach the wall vertically as shown below (for higher strength). bolt. for this installation, make sure not
to leave out a spring washer, plain, |

\

washer and snap pin. |

SPEAKER ANGLE ADJUSTMENT DIMENSIONS

The bracket can be adjusted so that the speaker is set for
the desired listening position.

468 27.5(1-1/10%

(3 o & o]

2-¢8.8

64(2-1/2")
80(3-1/7")

120(4-5/7")

130(5-1/9")
155(6-1/10")

Rotation lock screws (2 pcs.)
Using the supplied hexagonal
wrench (small), loosen 2
rotation lock screws, then set
the speaker to the desired angle
and retighten them securely.
(Do not try to move without
loosening both rotation lock
SCrews.)

Joint bolt

Using the supplied hexagonal
wrench (large), loosen the joint
bolt by two or more turns, set
the speaker to the desired angle
and then retighten the joint bolt.
(Loosening this bolt too much /g
can cause the lower bracket to 86(3-367)
come off. (Take care not to 60(2-3/8)
loosen more than necessary for
the angle adujustment.)

Maximum adjustable
angle is 360°.

—>11+-2.6(1/8")

130 (5-1/9")

Maximum adjustable angle
is 220° and 10° at minimum.

190 (7-2/1")

/

¥
)

Maximum adjustable
angle is 360°.

S
)|

Fig.6 Fig.7

YAMAHA CORPORATION YAM A H A
Pro Audio Division, #18/3

P.O.Box3,Hamamatsu,430-8651,Japan

40
(1-4/7*)

O
Rotation lock screws (2 pcs.) f R
Using the supplied hexagonal
wrench (small), loosen 2 : 76.2
rotation lock screws, then set .
the speaker to the desired angle Unit: mm(inch)
and retighten them securely. :
(Do not try to move without Weight 0.85kg (1.8 Ibs.)
loosening both rotation lock
screws.)

Printed in Japan



